Anticoagulant Questions

1. Used as rapid reversal to treat over dosage effects of warfarin……………………….c

a. tPA


b. heparin

c. none of the above

2.  Which of the following causes activation of plasminogen to plasmin?..........................e

a. heparin

b. warfarin

c. tranexamic acid

d. aminocaproic acid

e. tPA

3. Which is the correct statement about anticoagulants?.....................................................d

a. oral administration of heparin is as effective as parenteral

b. warfarin provides immediate anticoagulant effect

c. anticoagulant effect of heparin do not require presence of antithrombin III

d. warfarin is not a preferred anticoagulant in pregnant women

e. heparin overdosage can be reversed by high dosage of vitamin K

4. What is DOC in the treatment of a patient with acute MI to reduce clotting and to 

open his occluded artery, which acts by activation of plasminogen to plasma?..................a

a. tencteplase

b. heparin

c. warfarin

d. enoxaparin

e. dalteparin

f. danaparoid

5. A male, 55 yr old patient suffering multiple pulmonary emboli was admitted. 

Which can be used for patient immediately & later?...........................................................d

a. tPA

b. heparin

c. warfarin

d. all of the above

e. protamine

